38. At what point on the graph of y:;x2 is the tangent line parallel to the line 2x -4y =3 2

A. [%-%J B. [%é) c. (1;%} D. (1;] E. (2, 2)

noemel Zineis L 4 "rangﬁni' (T |y =T e

39. The slope of the line normal to the graph™df y =2In(secx) at x="s

4

A. -2 B. ﬁ; . % D. 2 E. nonexistent

40. The line normal to the curve y=+16-x at the point (0, 4) has slope

1 1

A. 8 B. 4 . = D. 3 E. -8
o 2y Rememlaek Jow Can Reweite,
1 Ix dx =
&
A e—1 B i—e+l . e_‘_i 0. g%~z D, &-2
e 2 2 2

| Romember. You tan RLWEAL
42, [\x(x+1ydx =

A. 0 B. — GCs 2 D. 1 E.

16 7
15 5

q \£ you, don'+want 40 Rt ) this
43. [Gx+D’dr W\ul\\é \\(m\on 1S Won 1O much!

Pisad)
6 6 . 2
A. el +C B. L) +C Gos 3i+x +C
18 2 2
3t Y
3x+1)° (_;“J
L (—u+C E. —+C
6 2
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44, '[xz cos(x3)dx =

o 3 4
A. ‘1Sill(x3)+c B. —sin(x*)+C C. “sin| T |vc
3 3 30 4

3

D. %sin(x“) s, E, %sin(x-’) W o

K Don - Poﬁgc;lf Constandt” of ntegladion B U e

45. 1f Y —sinxcos’ x and if y=0 when xﬁE what is the value of y when x = 02 @Dr\d ﬁor}

dx

A, -1 B. O G B == E.

(98]
W | —

¥ When definife change imits wien Using k-Sub!

46. [(x+1)"?dx =
0

A 2 B. 7 &, 1B D, A2 E —

2 3 3 4

S0 52 P duc

47. The average value of Jx over the interval 0 < x < 2is

A. %-\/5 B. %\/5 C. %JE D. E. gﬁ

/4
48. _[ tan’ xdv =
0

Vid T 1 T
A Sl B. - C. 3 B, a3 E, 1
49. |fj ¥+ k)dv =16, ’rhenk*
A, -12 B. -4 C. 0 D. 4 E. 12
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